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EHET = 1 4,027,012

A T = 1 1,249, 738 | 4RHI 1,700 m3
L A7 iy b PR PEEME 5, 000m3AH ;

A 1,720 m3
0 Cadl- EHIRY £5T) ;

BEARRE AT = 1 2,624, 782 | B&{A (LtR) R+ 170 m3
2. 5mAT ;

BRI (Bite) R+ 360 m3
2. 5mPh 4. OmASTw ;

BRI (Bite) R+ 1, 000 m3
4. omPh Lk

b E 1,720 m3
0 CaBl- EHIRY £5Te) ;

FHIA Ob-27) 1, 700 m3
+1 850, 000m3ATH ;

Rkt A = 1 152,492 | {EEEETE (8] 40 m2
BRI v+ R OWYE + kit

LRI (3% 1350) 280 m2
T i S O I BRI

AR B T Y 1 13, 370, 059

[EfE T = 1 13,370, 059 | A7) —Fm@Eh ¢ 204 m3
WREE2LLT v MREER (—iiREs )
120kg/m3 ;

A7) -FEEN TR 270 m3
WRIEE2nAE B2 5mEL T Ay MREER (—iR
95+ /) 120kg/m3 ;

A7) -t Eh e 292 m3
WRIEESNA B X LT 2y MSREEE (—R
95+ /) 120kg/m3 ;

27 ) —HEEh e 949 m3
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S RIRFE T 8 X 10mEL T vAY DR E LR (—fik
&35+ M) 120kg/m3 ;
A7) -FEEN TR 683 m3
YRR 10mE M 2 13mLA T vV R E LA (—i%
k39 HM) 120kg/m3 ;

EE T Y 1 255, 318

fliAE T = 1 255,318 | & MfF 40 m2
JElem &AL 100m2 A0 ;

ANTHEZ 290 m2
Fy Mt &

WiERE T = 1 75, 686, 943

E¥ELT 2y 1 756, 412 | FRHE D 1
T

HEREL 1

FEIA (=27) 1
+w 850, 000m3AT ;

RS 1
T GEBE- AR L5 T

>t

Oy 2t

e

ST THERE T (W 1490 B4V & 1 1,332,090 | /) A 13 m3
(1,2%)
Im% 8 X 2mAii 18-8-40 (BIF) ;

GIWAF-%: it 7 m3
(3%5)
2mPh_E5mEA T 18-8-40 (F¥F) ;

7" VR MAEEE T o 1 66, 064, 961 | F:fEkf 13 n2
I T9vv7740~0 BIE 0.2m ;

¥jLavy)-h 335 2
18-8-40 W/CHLEHEL #/Z 10cm ;

BT HeAfavy)-h 317 m3
24-12-40 (F4F) ;

7" VA U feRse 187 m2
(175)

-2 - E taZ@d Ui R




PR AR E

T
Psi

TH4 | R 6 FERHETE IR EE 0 MM X peRE T T4

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
7" VAN fERE 173 m2
2%5)
7" VAN fERE 134 m2
(3%)
7" VAN fERE 67 m2
(4%5)
Bl HT Rbiav - 20 m3
30-8-40 () ;
7" VA MAERE T = 1 7,533,480 |7 VEyANL KBRS 30 m
1)
77 Vi AL BiERE 30 m
[=Li))
7wy (GE) T 2 1 414, 731
VAR VARV RN EVZA I VAR PYZ ) = 1 414,731 | BIGFT HAEav Y-} 7 m
18-8-40 (75 47) JEIE 52cm & 30cm ;
avy )= (1) 77 ny )i 11 m2
$235+10cm ;
JIA - BEARE () 2 m3
FARAG RC-40 ;
Bl HT Ruiav - 0.3 m3
18-8-25 () ;
AN 2 1 11, 242, 391
e+ T 2 1 221,639 |HIE L 1 X
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
b T 1 X
0 Cadl- EHIRY £5T) ;
TG T £V 1 11,020,752 |#)Lavs)-} 31 m2
18-8-40 W/CHLEMEL HIE 10cm ;
/7Y =} 118 m3
NZEME 3.5m NZEE & 5m 24-12-25(20) (7
Ji) iR 3y - MR IR

-3 - E taZ@d Ui R




Vol =
FER N E
TH4 | R 6 FTEKHAT KRS EE 1B KHEH X BeRE T T
TSy « TfE - FER B {7 ¥ & & # A bl A iR
i53i0) 2.28 t
SD345 D13 ;
i53i0) 8. 06 t
SD345 D16~25 ;
i53i0) 0.79 t
SD345 D29~32 ;
V2] 12 i
SD345 D22 L=600 HDZT77 ;
Tl e 1 =X
— R
A 1 =X
D200 ;
AR 1 X
£<40kN/m2[t<120cm] ;
s 1 =X
BER Yy MLEE
EFEET = 1 2,097, 622
TA7 7 Ml T X 1 2,097,622 | T/ (i - BRIE ) 644 m2
FEITyYr77 RC-40 A VW E 150mm ;
R (HEE - BRI ) 267 m2
R EE R M-30 {1 Y /5 100mm ;
g (I - BIF ) 644 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
HEKHEEY T = 1 5, 057, 984
e+ T 2 1 181, 367 |FR¥E Y 1 X
+4)
HEL 1 X
+4)
FEHA O-27) 1 =X
+1 850, 000m3AKT ;
T wb AT 1 =X
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L S 1 =
T CEBL ERIRY BT

AR T = 1 2,627,820 |7 VEiA NIRRT 163 m
240X 240 ;
7" VR A MU 3 m
300 X 300 ;
7" VR ANURMAE 8 m
450X 450 ;
7" VR A MU 6 m
(FFZEARE)
300 X 300 ;
7" VR A MU 28 m
(FFZEARE)
500 X 500 ;
7" VR A MU 2 m
(FEZEARE)
500X 500 77 V=T  FAF T-25 A H 4508 v hE
TE (HEWT )
NS 8 e
(U
7T Vv=F/0" #4500 T-14 L=1000 ;
NS 12 e
(FEZEARE)
300 41.2%9.5X50 ;
NS 58 e
(FEZEARE)
500 62.2X12.5X50 ;

mET = 1 921,519 | ta-bi (BIRA) 11 m
S EBIFE ¢ 300 360°

WK E 14 m
o VP-150 ;

WK E 10 m
A VP-200 ;

fi e PR 11 m

-5 - E taZ@d Ui R




il
W
S
%%%
T

TH4 | R 6 FERHETE IR EE 0 MM X peRE T T4

LX) - LA - flj

WAL

%

=

B

il il 2

ﬂlj“

P BB ER VIV ¢ 500 (8 77 MEE)

rhav ) -
(KA U)
2407 ;
Fexay))-h
18-8-40 ()
HAE

BEEG a7 ) — MEEE

KMk vy T

1,327,278

BUSHT B K
(1%5)
18-8-25 (i 4F)

ST 5 4k
(2%)
18-8-25 (i 4F)

ST 5 4k
(3%5)
18-8-25 (i 4F)

ST 5 4k
(4~T5)
18-8-25 (=47)

ST 5 4k
(8, 157)
18-8-25 (=47)

BGHT K
(9%)
18-8-25 (7 47)
BGHT K
(10~13%")
18-8-25 (7 47)
BT 5 Kt

700X 700 X 800 (7" Vv=F4" h47")

700X 700 X 800 (7" Vv=F7" h47")

500 X 500 X 500 (7" Vv=F/7" 547")

500 X 500 X 500 (7" v=F/7" 547")

500 X 500 X 800 (7" V=F4" h47")

700X 700 X 700 GEsAs47")

500 X 500 X 500 (S A47") ;

1 £ FT
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(145)
18-8-25 (F&4F) 500 X 500 X 600 GREdits17°) ;
= 7 r5e
7 V=Fv)" 500X 500/ T-25 I H 458 vhEE
= 2 r5e
P V=F/)7 T00X 700/ T-25 I H 458 vhEE
= 5 r5e
TS (VERERSR Av%) 500 X500 454 Wb
[EE ;
= 1 r5e
TS S (VRSN Av%)  T00 X T00HH 454 Wb
[EE ;
BGHTH &0 1 E10
(1%5)
18-8-25 (B ) ;
BGHTH &0 1 E10
(2%)
18-8-25 () ;
B EMR % & T 2 1 1,299, 342
FEHMIR R S T 2 1 1,299, 342 | BEHRGR & 17 m3
24-12-25(20) G&JF) ;
s ALER T = 1 962, 940
S BSLERVEZE T =X 1 962, 940 | JZAKLER 1 =X
HEE L = 1 783,411
e LT it 1 416,459 | v7)-MHEXE YU L 26 m3
MRS BhlE T
2y - Mg B L 8 m3
BRI Y B T
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TEHX4y « Tfd - FER B Az £ & #A iR
E A IR B M 1 F2V
TAT 7V MEHEERR 15emPA T
A IR A 357 m2
TAT 7V MEREERR EHEERR)E b e m ;
TE LB T =Y 1 366, 952 | oM 18 m3
TAT7IV NS
Stk 26 m3
/)~ hik (4%
IR 8 m3
/) -hk (BRAD)
LGy 18 m3
TAT7IV NS
RISy 26 m3
/)~ hik (4%
RISy 8 m3
/) -hk (BRAD)
A Y 1 336, 420
B EHT = 1 336,420 | A IERFEEE E 5 1 =
[ERAE Xy = 1 115, 534, 173
HiE 2 1 15, 841, 800
BISTI S = 1 3, 237, 800
TE = 1 1,851,000 | HEELERHR o) ARk T s 2 1 =,
HeffrE sy = 1 279,800 | HUEL FHA 2 1 =
AN e hvE HERERE 1 F2V
BGRESCGES (5 1) = 1 1, 107, 000
B (FEHL) = 1 12, 604, 000
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T=E4 | R 6FERESER

RS EAR AU b DCHieRE T T

THEXSy - THE - FE5 H7 % & i Gl N
R e 2V 131, 375, 973
e R 2V 44, 508, 000
T AT X 175, 883, 973
— e PR 2V 27, 986, 027
N 2V 203, 870, 000
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